pump for all, all for pump

@ @ 'Is//‘w// 0 @

KSQ9001:2009/1509001:2008

Centralized Grease Lubrication system

Manual grease pump
Air grease pump
Electronic grease pump
Distributors

.........

" ARYUNG

S www.aryung.co.kr
o AR2016-AGP-EK2

€

O



Grease Lubrication pumps




WWW.aryung.co.kr

Electric Drive type

AGP - DG 10 - C

Pump division Q

HOoE
AGR - e

— Controller

S [GESPN

M : None

C : Built-in Digital

® AGP-DG10ES 4
Q0 Harotnt A
49| 20| 7}53iCh

® AGP-DG10%2 FHEaIK| WeKIA| JajA Hu2 A J2jA
METI0| T2 KRLET HARASO| 91, 7IE2X| DBS
W2 T Hel5tA| & 4 00, A0 D MRE A K|
349U,

® AGP-DG10-CE#2 X0 LR X AES 20 ol &
x| AZHE £ AlZio] HO{=lol A% AlZIo| AE02 29
7} 0|Z0fzic,

& AE7| 2 2B NS BRI IS ST,

S ZY A HEZN 22| B

& @ An AGP-DG10 is a compact electric grease pump that can be used
b (PVG EH)2t Z3I5H0] 042 74

to grease relatively small sections and suitable for short distance
lubrications. Combining with a batch type line distributor, PVF
type, can make possible to lubricate several sections at a time.

@ The AGP-DG10 type is a cartridge type which does not require of
recharging the grease. The cartridge can be replaced fast and easy.
Moreover, it is economic and environmental friendly.

@ An AGP-DG10-C supplies oil at any appointed time by setting up
discharging time with a digital controller integrated.

@ They can be installed on a wide variety of products, such as
extrusion machines and industrial machines.

Discharge Working Pressure Cartridge Out-let Net —
volume pressure range capacity NLGI Ex ControllerX| ioh Motor | Current
Type oz | AswE | omde | 8 No. ST opmm | WEE output
cc/min MPa MPa 0 2= Al Skg =% HE
W A
DG10 10 10.0 6-10 0.7 #000-1 1/8" X 39
20 1.4
DG10-C 10 10.0 6-10 0.7 #000-1 1/8' L 39
External dimension 2|3
-5
AGP - DG10
ING
114.8 104 13 P
130 5 s —
13 04 13/4—29—':@-5 . ;
/ 5 * ER Tl RELIEF VALVE . [ »a®
<o ! B = T
1 4 A
5
VIEW “a® 180 AR VENT
248) N\ FT 1/8%QUTLET)

A-RYUNG MACHINERY IND, CO., LTD ()3



se pu

Electric Drive type

Panel description EtO|H 47 2 Setting instruction of digital timer

* AP *Setting range

Interval time:1~59 min

Duration of discharge:1~99 secs
1)How to set the timer

MODE M : Starting set, Move,

Interval Time : 1~59 min
Discharge Time : 1~99sec
1) 2Py

B 28N, 28

A X2 Finishing set.
\ AESNITE FEED A : Numbers up
0= REST ¥ Numbers down

» : Advance

Press and hold the MODE button for 3
seconds, DIS'#1, then, turns on, and set the
INTERVAL TIME by pressing A or ¥, and
then set the DISCHARGE TIME by pressing .
Pressing P button again turns the DIS'#2 on,
and set the INTERVAL TIME and DISCHARGE
TIME with the same way. Exit the setting
mode by pressing l.

2) RESET feature

If you push the RESET button during the
operation, it initializes the setting.

3) FEED buttons, to grease manually

If you press FEED#1 button during the

@'MODE' BUTTONS 3&7t F2M™ DIS'#1
LEDS 20| MES =™ DIS'#12] INTERVAL
TIME(H=AIZHE “A” "V HES =2 4H0|
o2 TH “p"S =2 DISCHARGE TIME(ES
ANZhg 8Xsta, ‘"2 F2H DIS'H2 LEDY
20| BS T HA DIS#29| INTERVAL TIME &
DISCHARGE TIMES &Xstn ‘WHES &
2 MYDEUA WL EICH

2) RESET 7Is

20| XSO HEUA “RESET" HES F2

HHYE 2 Z7|SE7F CEA] A &I

3) FEED button 7|5 (5 38)

LHO0| M=l AEHOM “FEED#1" HES £2

- MODE button
: FEED#1 button
. FEED#2 button

@
@
Q
@
®
®
@

Electric connection ZME

: Discharge FND

J2|AT 2 EESSE ESEOL

Z7|HiEE HX[ot0] HLHQ| Airg HAHSHALE &
SOE ZROtIAL S I EOI5HH| AFBE 2= ULt
4) GREASE B.& A

Cartridge LH2| GREASE 2&51A E/H HAIE
O “ALER"O] EAIE|1 Buzzer 20| M50
GREASEQ| 2&3t2 H Algg 27t ULt

]

[nput

I

Qutput

04 A-RYUNG MACHINERY IND, CO,, LTD

- RESET butt = L3 .

, utton  DIS#! LEB” gSHH 83 Al?_PI':}._ 57“('?* operation, DIS#1 turns on and the grease
+DIS#2 LED 0l 'F241 QU= SO I2AF 1M ESHZ ES  gischarges while you are pressing the
:DIS#1 LED HO, "FEED#2" HES F2H DIS#2 LED7F B pytton regardless of the time previously set.
Interval FND SHO 28 AlZHts BAR0l =210 A= S |f you press FEED#2, DIS#2 turns on, the

grease discharges twice regardless of the
time previously set. This can be useful when
bleeding air or supplying grease manually
by installing an initial pipe.

4) Alarm of oil shortage, optional

Cartridge experience a shortage of oil, OIL
lamp turns on with an alarm, so operators
can notice the shortage easily.

Circuit diagram 8|2

1 2 3 4 3 ,
Relief Valve

| | | | \

) -
= (=} D w w M Venting Valve
(] = o = @ —- -\ Tank
§ = = = é g = IYI » CT : 700m¢ Catridge type
= 4L g = B~
X




WWW.aryung.co.kr

Electric Drive type

e AGP - MG10 Series

AGP MG 10
Pump division Q

S HmaE

¢ AGP-MGHE2 SH7IAHE JAHEZN 2AH2ER
Off X3totH HEFAl 2HH(PVG EFY)2 231501 o2 74
29 20| 7tsot.

¢ AGP-MGE2 AHH|0f LHE
K AIZHO] H|O{=f0f 2
ZILt

& AGP-MGEY2 7HER|R| WA Jﬂl* HIEZA O2iA
ST T2 XMZef #HAHZ0| 9, 7tEL(X| Wek
S =1 Helop &+ ACH, 7éJHI@,OI_' et 2

@ An AGP-MG is a compact sized electric grease pump that
suites for short distance lubrication and it can lubricate
several sections at a time with combination with a batch type
line distributor, PVG type.

@ The AGP-MG has a digital controller integrated, so
lubrications can be performed at any appointed time.

_,_

= XIS ZHES20] s F
Al7f0ﬂ NE22 577t 0|R0]

@ The AGP-MG type is a cartridge type which does not require of
recharging the grease. The cartridge can be replaced fast and
easy. Moreover, it is economic and environmental friendly.

S *AE U, @ They can be installed on a wide variety of products, such as
¢ 45 SATA A4S MY|A S 2827} IR HL. machine-tools and industrial machines.
. q Reservoir DC24V
D\l/soclfl];rge VY:;';'JE (Cartridge) NLGI Out-let Net Motor Current
Type o Fi e capacity No. EEF weight Out-put
c/min fﬁ;ﬂ 933 e PT 5 &2 R
0 kg W A
AGP-MG10 7 8.0 0.7 #000 1/8" 3.2 20 1.4
Extemal dimensions IS8T
AGP - MG10 i
Eyal ~

3—#7 HOLES

(251)

100

Fat]

(125)

VIEW "A”

A-RYUNG MACHINERY IND. cO, LTD ()5



Instructions on setting the INTERVAL TIME #}= A|ZH A git

: YELLOW LED
:RED LED

- GREEN LED
“Interval FND

: Setting Volume
: RESET button

CNONONEESNS)

1 AR 1~ 24 ARZE
RESET HES 2 S-201 o2t LED7} S EJpA| 2417t Zeelrt
0|, EES AIEI0 2 S2J21 Al10] 2551, BiAP| HgoR =
IRt AiZH0] ZHABILICE 2lok= ARIS AHofR, RESET HES -2
BAZHR0] AR LI,

2 A5:0~602
RESET HES 2 ‘#2211 LED7} HSEI=E 015 SIS 24
=26, W7+ ED7} HSHRN £APE 2L, ol ARt A
#{3} SUGH| ol 22 AHOHD, RESET HIES 1201 & HF0)
SREL,

Electric connection ZME

| | | | |
5824 = g 2 =
o ]
| | | |
|

2 1

- =

5 -

06 A-RYUNG MACHINERY IND, CO,, LTD

1. Setting hours: From 1 to 24

Press and hold the RESET button, then yellow LED light blinks.

Turning the volume clock-wise increases the number, and turning
the volume counter clock-wise decreases the number. Pressing the
RESET button again completes the setting.

2. Setting minutes: From 0 to 60

Press and hold the RESET button until the red LED turns on and the
number on the screen blinks, the yellow LED which turns on before
the red LED should be ignored. Next steps are the same with setting
hours that is previously instructed above.

Circuit diagram s|2=

Tank
» 700m{ Cartridge type

Suction Check v/v

Relief Valve

Discharge Check v/v

OUTLET(PT 1/8")

Air Vent



WWW.aryUng.co.kr

Electric Drive type
AGP - 15 M - CT - 11
Pump division I

Hoqg

Controller

IO & x|

M : None

C : Built-in Digital
Filling of Grease
ZolurA

No mark : Refilling
CT : Cartridge

Voltage (V)

et
110: 110V
220 : 220V

© AGP-1582 AY MsA J2|A HOIZ N ZRINAZF Oa M1 2 A @ AGP-15 type is a small electric grease pump used less

220 Metotn 124 2HiH(ARU-R BRI 8610 02f 7HA oil points and close place. It can lubricates by combining
9| R&0| 7tsatt, with single line distributor (ARU-R type).

& AGP-15MYE AR HOTEX|7t gl 2o HEEZ 0| 2sh Hof @ AGP-15M has no controller in the pump itself, can adjust
& 2= QLY. outside controller. The AGP-15C has a digital controller,

& AGP-15CH2 A0 LIYE CXE HES20| Qo "Xl AlZte £ so the interval and discharge time can be adjusted by this
= AJ7H0] HO{E|0] MRS A7) AFECZ 227 0|20 RICY, controller to lubricate automatically.

@ AGP-15M(Q)-CTHS FIER|X| WSHIA] J2|A HMI2 M J2|A XY @ AGP-15M(C)-CT type is a cartridge pump and it is easy to
ZZ0f M2 X238} HHHR0| YT, FHES|X DS W27 H change the cartridge in a short time without refilling. The
25t & 4= on, AMAO0|1 st #EE RAIE 2 L, cartridge type is more economic and clean surroundings.

& DA T, TQI, SRR}, Meb X7 L ZE M7 S @ This type is used mainly press, conveyor, crane, special
SRLJ} D Lt vehicle, ship, paper, and various industrial machine.

; ; Reservoir Phase 1@, Poles 2P
Discharge = Working | Pressure . . ’
Type volume | pressure | range (Cartridge) '\II\ILGI OEUL €1 Refilling N.eth Motor | Fre-  Rated | Current
oz | agwE | gmme  @pady Moo EET L anog | WEEN Out-put | quency | voltage
cc/min MPa MPa ESAE T PT zzmpy | 38 3 | e | M | HR
0 kg w Hz v A
15M 12 9.5 50 |100/200 1.8/0.9
15C 10.0 2-12 2.0 #000-1 1/4 Filling 90
15 9.6 60 [110/220/1.8/0.9
TspCT 12 8.7 50 |100/200 1.8/0.9
15C-CT 10.0 2-12 0.7 #000-1 1/4” | Cartridge 90
15 8.8 60 110/220] 1.8/0.9
Setting of Interval time
: : : B A% DES S202 AR 2184 19 i is an intermi
ST Interval Time ¢ 0| R E_1 k tjcff ot el OTh|sdpump ﬁ antmtegmlttent irgtaie pﬁmﬁ
(E2A7D (248 HXAZD A HO2 M 27t 522 3015 510] HSA| ZE{OA used a small motor. As a result it has hig
=o o0| ML 02 XE T0f oA 228 7H HX| temperature at starting so it keeps sufficient
1~10sec OF 2miin OJAt Al7HS MOt BiCY, interval time (refer the setting of interval
130secl | oraminold 78 BEAZIO| MoB REQ weiNzio] gop g Umeonsidechart)
- Q0| LMEIA E|0 O|THs LHE0| EHARE OREARR|0f @ The motor is aUtOmaUCa“y Stopped when
31~60sec L QF 5min Ol ojsil RE7} RECZ HA| 51 HCH 2Lt 20| Al the interval timg is shorter by the high
61~99sec 2 oF 10min OJA¢ OB CHA| HAIEO| RIES 514 Lt temperature. But it works normally after the

motor cooling

A-RYUNG MACHINERY IND, co., LT ()7



=
—
—
—
—

Electric Drive type

Extemal dimensions 28&E Electric connection ZME

15C_DIMENSION CONNECTOR PLUG

OXGRINONO

M @ : Power
% @ :Red @:Black

(346)

[¢ Precautions for different AF2 A| SO ALSE

2
g ACk A8 UR s 280t IO W+d0| Mot
AL MY UHS LHoHOF BT

& 7| i3 EX| Al ZHIEL HEoE| HOl| Air ventE 211 HES HS
A7 A7 |E Bt 2 J2|A71 U= AS 2l = B2kl 2 {0 &

A=2 |- T

© AGP-15% J2IA BIO= 2T W} YIS0 AIS Y24S X
==

4>

Ch

15C-CT_DIMENSION ¢ B39 AL U3t SUHAEOR H0f oLt MY I 35t EX0= Tf
£EO2 A M A 25| R2IaH0F Bt}

& A2 J2|AE Lithium AS2 NLGI No. #000 ~ #1 H|Q 7§t &
HO I2ATS ARBS A,

o & e 379 J2A%t 28fot0] ALEotH &M Q7L stst B30

: Ol HEE 4 A2D = S5 AL8ot= Ae A710f SiCt

| ﬁ % J2|A S S FIELX] wet WH2 24 HO|X| =X

' =1 e @ AGP-15 grease pump has a relief valve and can adjust pressure.

@ o If the pressure sets high, the endurance of the pump will be

£ down. So the pressure keeps proper.

oot Vo] ] @ To pipe first, the air venting, working the pump, should be done
7 ¢ before assembling distributors and then combine the pipe.

25 13 @ Even the reservoir material is strong plastic, you should be
careful to clear or refill the tank after usage with thinner or
other chemical liquid.

@ The using grease grades are Lithium, NLGI No.#000-1, and
used clear and good quality grease.

@ If the grease is used with mixing different grease, the grease
is stained and changed the quality of using grease by the
chemical reaction.

% Refer the page 24 how to fill the grease and to exchange the
cartridge.

Filng Port

3

08 A-RYUNG MACHINERY IND, CO,, LTD



WWW.aryUng.co.kr

Panel description

|/

Ce

AGP-15C
AUTO GREA PUMP

HOUR 1 ~"SECOND

ds| | L5

INTERVAL TIME DISCHARGE TIME

Digital Control system

@ : Feed button

@ : Reset button
@ : Mode button
@ : Interval FND
® : Discharge FND

* A
Interval Time : 1~29h 59min

Discharge Time : 1~99sec

“EERY

15M(C) : 15¢cc/min = 0.25cc/sec
1) 4EWH
MODE B : HHAI%, 0|5, HHet=
FEED A : %[22
REST W : :%|LjE
A) INTERVAL TIME H&(1min~2%hr 59min)

@‘MODE' BUTTONS 1352 INTERVAL
TIME HAM7Z} ZEt42IT oI oo FXt2]
XHe AIZHS LIEHAD] 2|0 29A|1ZE7ER] AlE
7HsoICt AlZE MH2 'FEED' (A).RESET(V)
BUTTONCZ TIMES 57 AlZICt & &Iy X}
2| 40| BL% MODE BUTTONS 53 L2
IO 0|5510f A|ZtS MSHTY,

B) DISCHARGE TIME &X(1min~99min)AlZt
AH0| A2 EH @ ‘MODE BUTTONS CHA| 1
3| s2i&0} J2{H A7t DISCHARGE TIME
Ol A ZetAZICE ofm FAt2| Ats E(min)g
LIEFHDY ZIcH M TIMES 59minZtX| 7455t
CH TIMES 42 1858 SU&

O) M3ZZ 10% O|LHol| Or=&H Y=o] gloH
MH0| ARE HOZ FEHN NF02 2H
e 2 MBI}

D)"A”, “¥” button2 13| =& MOC
M Z, gotH ASHM F21 QL
2

- )
5, ¢ttt

|0
re
e
=
:Oé
>

2) RESET 7

20| TS YEHOIM “RESET" button =
FEH AYE 2TXT|SE7 CHAl AR

wn

=3
o

3) FEED button 7|5 (=5 28)
20| HZFOl AE0A “FEED" buttong +
20 TAIR0| "FEED'7F BAIEH M AlZtn
= Q0| =21 Q= S0t 0ilo] EEHL,
RS MX|oto] HLHQ Airg Aot ALt
502 FRoluX & mf 0[5t AEE &
ULt

4) Oil #& ZHE (Option)

7 A 27} 9k

Setting instruction of digital timer

*Setting range
Interval time:1~29h 59min
Discharge time:1~99 sec
*Discharge volume;
15M(Q) = 15¢cc/min = 0.25c¢/sec

1)How to set the timer
MODE M : Starting set, Move,
Finishing set.
FEED A : Numbers up
REST ¥ : Numbers down

A) If you press the button"l" one time,
the interval time mode begins blinking.
"A" button increases the numbers to set
the interval time and "¥" decreases the
numbers. When it finished, press "l
"button again and the discharge volume
time mode blinking,"A"button leads to
increase numbers and "¥" to decrease
the discharge time. Press again the
MODE "W' to exit the setting program.

B) If you don't press the button within
10 seconds, the timer recognizes the
setting time is ended and operates
automatically.

C) When you press "A", "¥" button
every one time, every one number
increases(decreases).

2) RESET function

When you push the "RESET" button
during the operation, the mode returns
to starting set mode.

3) FEED button( manual oiling)

If you press"FEED"button during the
operation, the oil discharges regardless
the setting mode, also this button can
be used to remove the air in pipe or by
manual.

4) Alarm of oil shortage(option)

When the oil is short, the window
indicates "OIL" with alarm buzzer sound
to check easily the oil shortage.

A-RYUNG MACHINERY IND, co, LT ()9



g AHGP - 700 Series

¢ AHGP-700¥2 &Y =
Sfot 124 ZHfH (ARU R EF)dt Z8tot0] 02f 7§49
SOlL.

S J2A HE2N 272] A 2R

2310| 7}

Manual type

AHGP - 700
Pump Division Q

HI pg

@ AHGP-700 type is small manual plunger grease pump and
useful to lubricate in short distance. It is possible to oil
many points with single line distributor (ARU-R type)

& DA ZH|0f, F2Q1 SR}, MEE MX7|[A H 4E MH7A S & @ 1tis easy to change the cartridge, and broadly used press,
Lt HCh conveyor, crane, special vehicles, ship, paper and various
machine.
Discharge volume | Max Pressure Reservoir Out-let - Net Weight
Type E52% i 27|28 Mg o. Es7 Flling Method 52
cc/st MPa c B PT Shen Kg
AHGP-700 1.0 1.5 700 #000~#2 1/8" Filling 1.2
O EESTE AT0| UM 22 T X=1 L0 242 1744 US @ The outlet is located either side viewing from in front of

o
- a4
LHRIS 21N 25 EETE A8 & UES = QU0
¢ Y39 M2 dst “EP\E'OE of ot dH & &t 8Aol=
IREEDE Ha 5 MA Al ZHE5| RoH0F ettt
QMR Je]A= NLGI No. #000 ~ #2 912
S AtEaHOF SiC.
* EE EF0| 2|48t 2RIol0 Ago| HH 29 AL geftts

0f of3 #E 4 9o
)

oHEDZ {2 25

Pl

AHGP - 700

(315)

10 A-RYUNG MACHINERY IND, CO,, LTD

FILLING NIPPLE(PT1 /87)

lever, but located right side when it provides from original
products.

¥ Even the reservoir material is strong plastic, and be careful
when cleaning by using thinner or chemical liquid.

@ The grease grades should be used clear and good qualified
grease with in NLGI No. #000-#2.

@ If the grease is mixed with different types, it can be stained
or occurred chemical reaction.

@ Should avoid to pull strongly out or press the pump lever.
It possibly make pump broken.

DPump body
@Grease tank
@Tank cover
@Lever

®Air vent

PT 1/8"(96)
OUTLET

e
=

3-99.5 HOLES




WWW.aryUng.co.kr

AGP-720

¢ AHGP-700¥2 &

TEIGHH 124 2HiH (ARU-R EX)H 28501 0f2f ZHA

20| 7tS51L.

AT
ST

AGP-720-CT

{ AE J2)A M A 2742 J2|A 290 |

—'""'l_

¢ AGP-720-CTY2 7IEL|A| WePH Air J2|A HEZA T2
2 Mgilo| I 120 900, 21 2 2K 2
S 8 4 9/O0, ZRA0|D T} BHS SXIE 4 UL,
dt

& DA 2H[0f, 2221, SR}, 44, 1IX[7I71I 2 4TS U7

SEEZIIHR &

ALt

AGP

Pump division
HOoag
a— —_

Level switch (Option)

ALK

No mark : None

F:Builtin

Filling of Grease

X0
T

No mark : Refilling

CT : Cartridge

Air Drive type

- 720 F
N

- CT

@ The AGP-720 is a type of air grease pump operating by

condensed air, and can easily control the discharge

volume

and pressure. This type is used remote place to oil many
location by combining single distributor. (ARU-R type).

@ AGP-720-CT type is a cartridge pump and it is easy to change
the cartridge in a short time without stopping the machine
working. The cartridge type is more economic and clean
surroundings.

@ This pump is mainly used conveyor, crane, ship, paper,
moulding and various industrial machine.

pe Disch;g;r Vé)rlume Ma;_(ﬂ' _T'Firésésq‘ure Rgegelg%i: r NL,G< g\lo' OEut;_relt F”“ig;(m ﬁtﬂ od Netévgght
cc/st MPa 0 T PT o=em Ke
AGP-720 0.4 15 2.0 #000 ~ #1 1/8' Filling 37
AGP-720F 0.4 15 2.0 #000 ~ #1 1/8' Filling 4.2
AGP-720-CT 0.4 15 0.7 #000 ~ #1 1/8" Cartridge 39

¢ 2 HO= A2IE7E WAEZ AT HIEA] Air unitS AX| @ This pump has a inner cylinder so have to install air unit to
ot &712] +2MH X =&0| & 4= AT 50 SHCf. remove the air moisture.

@ AGP-720Series= 124 J2|A HIZ A 124 28 ARU-R € AGP-720series is a kind of single line grease pump and used
EFQIT} R3I5H0] AFSt 2~ QlLt, combining ARU-R distributor.

& =7] g HX| Al ZH H b HASE7| FOfl Air ventE 210 HE @ To pipe first, the air venting, working the pump, should be done
ASA|7 Airtth7| S ot & T2 A7 LI Hi it Q’QOHOF cth. before assembling distributors and then combine the pipe.

& ME Greasez Lithium AE2 NLGI No. #000 ~ 1 HY{S TR @ The using grease grades are Lithium, NLGI No. #000-1, and
oF Y| GreaseftS A0 STt used clear and good quality grease.

¢ Tank| MEE Y3t ESAELE S YLt Al E 5
Oz o&E 4= 228z FA JHHA| 7—.*t'i'ﬁl 2o5H of

X J2|A X Y FHE2|X|(Cartridge) m &t

r

Ql

@ Even the reservoir material is strong plastic, you should be
careful to clear or refill the tank after usage with thinner or other
chemical liquid.

Il

% Refer the page 24 how to fill the grease and to exchange the cartridge.

A-RYUNG MACHINERY IND, cO,, LTD 1 1



Discharge pressure EE=

Discharge volume EEREF

(MPa) (cc/min)
20 100
15 75 —
10 50
5 7 25
0 el 0
0.1 02 03 04 05 06 07 (MPa) 0.1 02 03 04 05 0.6 0.7 (M)

air pressure

External dimension 2Ex

air pressure

- #130
L7
AGP - 720 F‘\l g
®) 65 4-M6X1.0p 4
ol 1>
VIEW "A” g
: K
AR SUPPLY PORT FILLING PORT / g
PT 1/8"
: , PFORINR
o T~ = o o
: = 3
i D & o
AR VENT /| 45 | (77) 88 OUTLET (PT 1/8")
225 66
kd
A
-72 _ z 6
AGP-720F A
~\J -
®) || 65 | \4-Mex1.0p
VIEW "A”
—_ 0
< |3
g N
AR SUPPLY PORT _FILLING PFRT / 2
PT 1/8” PT 1/4"
=
52 o %% A
AR VENT /45| (77) | &8 | OUTLET (PT 1/8")
225 66
X
A’
AGP-720 - CT =il , |
(8) 65 4-M6X1.0p :
VIEW “A” = i B
: N
AR SUPPLY PORT : - | / N
PT 1/8 ‘ 2100 | |
3 L /@ i »
5
~[co 0 | = o
A j & "
AR VENT /| 45| (77) | 88 OUTLET (PT 1/8")
66
225
A
A

12 A-RYUNG MACHINERY IND, CO,, LTD

Air Drive type

%The discharge pressure and
volume are determined by the
air pressure.

®Pump body
QAir cylinder
QCylinder body
@Grease tank
®Air adjust bolt

®Pump body
QAir cylinder
QCylinder body
@Grease tank
®Air adjust bolt
®Limit switch

DPump body
QAir cylinder
@Cylinder body
@Grease tank
®Air adjust bolt



WWW.aryUng.co.kr

MEMOLUB Cartridge type

HPS - Standard
Pump Division Q

o L2
Standard : 120cc
Mega : 240cc
Giga : 480cc

& HPSY2 7IEZ|X| wet A¥ AE J2|A HEZA Single & @ HPS type is a cartridge changeable, automatic, and used
= Multi system@ 2 ALE0| M2|St 5 REX[0|C}, single or multi point electro-mechanical lubricator.

& HPSY J2|A MO = gR72 S 8mIHK| i 4 U0 &AH2| F # This type can be used remote location up to 8m from the
7t 7tsotH, 229 22 AES MAS & ot 2t 74 lubricating points and can avoid dangerous and difficult
£ BEX I'_HE M7t TS0t ZHTat T AJZHol 124 access ports. It is also possible to change the cartridge in
FIER|XIE W2 & 7t L, a short time without stopping the machine working.

& FtER|X| WA J2|A HOE= TS HA9 TJ2|A HIo| @ The cartridge type is more economic and cleaner than
HiaH ZH&0| 1 i Halohn THRet 2tES X 4= UL refilling type.

EHIHE ARU-R EfJt 28ot0 02 JHAC] &&0| 7HsSolTt. @ This type can lubricate many points assembling with

& 2HI0], RIS, T2Q1, A, QIA7IA, RIXI7|A, 487 1H, 27 ARU-R distributor.
27| 2 4E ﬂ°‘7|71| %%% 740§ LY, # This pump is mainly used conveyor, automobile, crane,

ship, print machine, paper, moulding and various
industrial machine.

c cc/ st MPa T PT SLem Kg

Standard 120 0.63 2.5 #000~#1 1/4" Cartridge 0.7
Mega 240 0.63 2.5 #000~#1 1/4" Cartridge 0.72
Giga 480 0.63 2.5 #000~#1 1/4" Cartridge 0.8

& J2|A -15C, E4 J8|A -25°CK| EE0] @ HPS can pump the grease at temperature down to -15'C. It is
possible to lubricate =25'C with special grease.

L 2

Norhr
52
i o= O
—Urlo

4 &2 Microprocessord] 2

*:= St &AM tsAoZ SH2 L @ This type is totally autonomous, the power is supplied by a
B AMX|Z AZED ATK Y +F2 012 20 =2 Y=o battery pack and consumption is very low, even under high
ANENE +=F0| HHELCE pressure conditions.

¢ HPSH HIO= 32 2L0A ASEX|PH ABHOZ 240cc 7t @ The pump will empty a 240cc cartridge at a constant temperature
E2X| B2 0°COIM, 480cc 7tEZIX| IS +5CHA 7t of 0'C and a 480cc cartridge at +5'C even working at low
FE2 XUOE HETH EZ0| 0|R0ZICH temperature.

¢ O 22 20N = E4 HtH2|2 AF2ali0Fetn, 0|ti= 12| 4 For lower temperature, special battery packs and low temperature
A H28S AFSSHOFRICE greases are available.

& Z7| Hi# X A0llE 22jA B HE TE= TJ2A AS 0[& @ For the first operation the grease filling pump should be used or
0] i 2k LiOI| 12| A S 5| SEIHOF it filled fully in the grease inside pipe with grease gun.

& SO A2 Ut ELAECR T QO ML U SI5HEH| 4 Even the reservoir material is strengthen plastic, you should be
O = OELB2 FA 3 MA Al 2PE0] a0 sttt careful to clear or refill the tank after usage with thinner or other

chemical liquid.

A-RYUNG MACHINERY IND, CO,, LTD 1 3



MEMO setting & =

2 2k AE

WORKING
PRINCIPAL

240cc REPLACEABLE
PRODUCT CARTRIDGE

ACTIVATING PINS

TIMING AINGS
(===
whas Ly raama cerons
=
Nw RETURN VALVE

CPTIONAL STROKE
REGULATING wusrtm «m
0= hdl stroien

7 = erininum stroke [0350:)

The MEMO (Time &

X Kit)

Time Setting 4™¥E

¢ 592 H OfHEl= MEMOO| BE ARiE o .

& TAS9] Sroke® ZEoP IS0 SHOINE 8 4 T, O MEMOS
QYT FARLTAI0, B MEMOS ZHN 10| ALBE T 1Stroked]
0.635¢c7t ESE|T, ZHANS oI A2 & Toli= 0.04cc 2430, &
HOINS B 5B 0.04ccH) B3I

& QBRBIANE Ht) 774 1K AZO| kst

@ The MEMO adapter is made bronze and used to lengthen the pump
cylinder.

@ It can fit controlling washer to adjust piston stroke. If it used without
controlling washer, one stroke discharges 0.635cc. When setting the
controlling wash, the discharge volume decreases 0.04cc, If the wash
is pulled out, the discharge volume increases 0.04cc.

@ The controlling washer can be set maximum 7 pieces.

 MEMO B2 HPS pumpt] FA{E0] 22l 20| T2IAS 39 8h= AL,

0| HAI= HS NS IRENS UHH £OH, 2 ESAIZIO| 230 FTHO
2 XS ZREE RO/,

¢ B4R/ SYE SR SB XIS Y202 20| 7|fFHE BRI,

& S URE 7ITHstn AZiE 97 ZalX) et

@ The MEMO is a unique system for adjusting the daily grease output of
HPS pump.

@ The MEMO is programmed the first time and is then permanently fitted
on the lubrication points.

@ Maintenance personnel need not to remember at each intervention
what setting is necessary and organization is simplified.

@ Programming the MEMO is simple and takes little time.

Daily Discharge Months to Empty At /43 B : Black ring
Rings Strokes/Day Volume . ) o
(Color) PI=E PN QlojExOat Standard Mega Giga W : White ring
(0 (120c0) (240c0) (480cc) R Red ring
RBW 24 15.1 0.25 0.5 1 )
% Time&H Kit Z2{E 2| Zgt0)| faH
" & re 02 1 ’ HIo| Mg AIZtS ZHisH AN
RB 4 2.5 1.5 3 6 == QUL
R 9 13 3 6 12 % The time setting can be easily
combined by ring color.
BW 1.5 1.0 4 8 16
W 1 0.6 6 12 24
B 0.5 0.3 12 24 -

14 A-RYUNG MACHINERY IND, CO,, LTD



WWW.aryUng.co.kr

Extemal dimensions 2T

#85

885

.

TL

MEMOLUB Cartridge type

MEMOLUB " Toe | A | L TL | Reservoir
Standard | 31 102 | 133 2
Mega 31120 | 165 4
Giga 31 214 | 246 2
DIRECT 6 POINT 8 POINT

LUBRICATION LUBRICATION LUBRICATION LUBRICATION
N=

—_— f

MEMOLUB® [

_ 1

(o) (@)
TR 1Y}
MEMOLUB®
can be used up
to & lubrication
points _ _ -
¢ J2|A ST Y IIELX| wet 2 25 HO|X] HE,
| @ Refer the page 25 how to fill the grease and to
- exchange the cartridge.
St e
oy ::F;QIL:';.:
] -

A-RYUNG MACHINERY IND. CO., LTD

15



© ARU-RES 124 T2|A 2ufS0|0 BEOJN E5E 12jAS Y
HY A0 2 RBNAY K02 3R STt
¢ 240 140/ EX18 22307 S8t 0] 131 B £
OfL 81 E5T0| HTOJHT L5 EI5t 2ufsi0] M5t 2o
D2 04 RRE #7 SR Holst 47} Urt,

¢ ARU-R-M &2 Limit AX|7t Y& & ZHHOZ ZH{#HO X5

Progressive single line

ARU - 4R -
Division of point Q

i 2
4R © 4Point
6R : 6Point
8R : 8Point

10R : 10Point
12R : 12Point

M

Limit switch (Option)
2|0|E AQX| MEY

M : Built=in

No mark : None

@ The ARU-R type is a single line grease distributor which
measures accurate amount of grease discharged from pump
and it supplies oil to each ports in order.

@ When distributor completes 1 cycle, the indicator moves
back and forth one time. If any one of pipe is blocked,  the
distributor doesn't work. So any problems can be detected
immediately.

AHO|2S DLIEEIEH0] 0]A ({EE 2Kt 27t ULt @ The ARU-R-M type has a limit switch and can check the
operation by monitoring.
A S |_E - ~ 1 1
M 20C-70¢ @ Temperature range: -20'C~70'C
Discharge Discharge Min. Max. Ceptral qunch NLGI N.et
volume pressure pressure pipe pipe weight
Type ot EZQY LV e e e Rl X 5%
S cc/min MPa MPa PF PF T ke
ARU-4R 4 0.3 1.5 15 14 1/8 #000-#1 0.64
ARU-6R 6 0.3 1.5 15 14 1/8 #000-#1 0.64
ARU-8R 8 03 1.5 15 1/4 1/8 #000-#1 0.64
ARU-10R 10 0.3 1.5 15 1/8 1/8 #000-#1 0.72
ARU-12R 12 03 1.5 15 1/8 1/8 #000-#1 0.72
Assistant metal fittings EX2
AU-16 AU-16 AU-26
6
AU-26 |
PF 1/8" ; “ :
/8" 1/8" =

¢ ARU-RE ZHIS 241402 KST= PAR E0I0I0] E578 B42 NSOIA 1l

=EETE 0N

QI|D] IEA| HESTE ARSOHORICE O[ufo] EEZ2 2817} ELt,

% ARU-R type lubricates in order by even number holes . If you need to use the hole in odd number, one hole should be blocked with the assistant fitting(AU-16, 26) and the discharging

volume increases two times.

16 A-RYUNG MACHINERY IND, CO,, LTD



WWW.aryUng.co.kr

Progressive single line

External dimensions 23 &

ARU - 4R, 6R, 8R

PF 1/8 52 2—¢7 HOLES
= L P O
0 e %
1 =) Y
e teoll 315 2 (@ i
= ., T I
‘ PE1/4" B Uy
v (INLET) | IR
38 45 15 10
59 50
ARU-10R, 12R

52 _ 2—-¢] HOLES

4.25

54
68

ARU-R-M 59 59

Limit switch option) PF 1/8” 59 53
QUTLET 45 2—¢7 HOLES 15,15 10
( 4)__\ - Rl o0
w ! > !\-J- f ¢ szé_-r‘ _

g

m | jIEie |
. AR 1R @@@7

- KRE

PF1/8 o i J[}
(INLET) L

12R
5
€
1
1313
70

a4zl

(114)

70

A-RYUNG MACHINERY IND, co., LT 17



Measuring Distributor

PVG - Q - 10
Q : One-touch type Q

No mark : Screw type

Valve classification

HH ==
g2 2F

¢PVCEHT E 7 AARI0| AESHES K ALE HEHE A @ The PVG measuring valve is made to use intermittent
Piston %S0 ©f g27g + UET system, and can lubricate the grease by piston stroke.
A HHER L - . o
510! Ot $ol9t Kt — @ It is suitable to utilize precision lubricating system because
& R0 QR A7 HO0F HEolt of little allowance of oiling.
. EHF-:}%&! (Ief LEAY O] 55| BEX| 42 b @ It have screw type and one touch type, specially the one
T AQAE HE 25 ot
touch type can save the setting time to make cost down.
& AA” S Al ARG-M 2oL AlEet @ It is combined with ARG-M type distributor when installing
system.
Volume Using NLGI L Bore of pipe
Type 1C")' pAILeQSglﬂég N 0. mm
od=
cc/st MPa L A B
PVG-10 0.1 1.5 014 #000 - #1 47
PVG-20 0.2 1500 #000 - #1 55
PVG-30 03 1.5 014 #000 - #1 65 . M8x1.0p
PT1/8 (One Touch)
PVG-40 0.4 1500 #000 - #1 65
PVG-50 0.5 1.50014 #000 - #1 65
External dimension /8= Example ARE Of
‘\ HEX12 %
|
| G10
G10
| =
7 |
| Gl0 G]0 i
! | | |
| 1]
C s Ty
| A
7“;';) (A) | S S—

18 A-RYUNG MACHINERY IND, CO,, LTD




WWW.aryUng.co.kr

Accessories

ARG-M

* PVG =2 ZE6H AL,
* Combined with PVG distributors.

20 B 20 2-p45 HOLE i i
. e T i Dimension
16 N-M10*1.0p y«i‘ Type Point Material
2-PT 1/8° (N) A B C
H ”m
i ARGLEM & N ;) = ARG-2M 2 56 16 36
& ARG-3M 3 72 | 32 | %2
10, i il ARG-4M 4 88 48 68
ARG-5M 5 104 64 84 A6063
ARG-6M 6 120 80 100
ARG-7M 7 136 96 116
ARG-8M 8 152 112 132
*AGP-DG10, MG10 M& T2[A,
*The authorized grease for AGP—DG10 & MG10.
Model st NS PUMP
T
} DED|ARE AGP-MG10
ARG-000 (Machine tool) #000 AGP-DG10(0)
EVIbSE=S
ARG-1 MBS #1 AGP-DG10(0)
(Injection machine)
* ARG-000, ARG-1 &% 3A
* The hoses charged with ARG-000 or ARG-1.
Hose di L1
NYLON HOSE Type O(iﬁ) a Grease | Material
05 10 15
i L1
NYP-04-**(L1)-000 a4 500 1000 1500 | ARG-000
- NYLON
_______________ L NYP-06—**(L1)-1 26 500 1000 1500 ARG-1
FLEXIBLE HOSE
Type L(mm) ALS2E(MPa)
FGH-5 500
HEX 19
PT 1/8" " g HEX 17 PT 1/8” FGH-7 700 10
E’— ﬁI : : I H FGH-10 1000
— — — — FGH-15 1500
L

A-RYUNG MACHINERY IND, cO, LTD 19



Accessories
Nipple 1 Type Pipedia | L1 | L2 | L3 T T2 Hex Material
F TD4-1/8K1 @4 10 8 18 PT1/8" M8x1.0p | 10 BsBD3
2/ - o TD4-1/8K a4 10 8 18 PT1/8" M8x1.0p | 11 BsBD3
TD6-1/8K1 a6 10 8 18 PT1/8" M10x1.0p| 12 BsBD3
L1 L2 TD6-1/8K a6 10 8 18 PT1/8" M10x1.0p | 14 BsBD3
HEX = TD6-12K a6 10 8 18 | M12x1.0p M10x1.0p| 14 BsBD3
Plug bolt T o :
/ / Type Pipe dia d1 L1 L2 L3 T Hex Material
a 1 e TA-4 @4 4.1 4 6 12 | M8x1.0p 8 BsBD3
ASY
— TA-6 a6 6.1 4 7 13 M10x1.0p 10 BsBD3
/L1 L2
HEX L3
Sleeve 1+ Type Pipe dia d1 d2 L1 L2 Material
b %‘ - B4 g4 41 6 17 5 BsBD3
SR Y
B-6 a6 6.1 8 1.7 5 BsBD3
L1
L2
I-let Type Pipe dia d1 d2 L1 Material
0 AL-4 a4 2.5 3.9 10 BsBD3
~ -
= —|———————— =2 AL-6 a6 4 5.8 10 BsBD3
U
L1
Elbow T Type Pipedia | L1 | 12 | L3 | L4 | L5 T T2 Material
N | %ﬁ
9 TH4-1/8K1 a4 13118 10 | 8 18 | PT1/8" | M8x1.0p BsBD3
5 | wf
. / TH6-1/8K1 a6 16 | 22 | 12 | 10 | 22 | PT1/8" |M10x1.0p BsBD3
/. u |
L2

2( A-RYUNG MACHINERY IND, CO,, LTD



WWW.aryung.co.Kr

Accessories
Elbow Type L1 12 L3 L4 T1 T2 Material
T1-1/8K1 12 8 21 12 PT1/8 | PT1/8" | BsBD3
Seal plug  HEX TI )
—(\ ; / Type L1 L2 L3 T Hex Material
FN 6-8 4 5 1 M8x1.0p 12 BsBD3
}-2 — TG-10 5 5 12 M10x1.0p 14 BsBD3
.,
L L2 TG-12 5 6 13 M12x1.0p 17 BsBD3
L3
Sealplug  HEX T1 Type L1 L2 13 T1 Hex Material
, TG-1/8K 4 7 11 PT1/8' 12 BsBD3
L1 L2
L3
Tee
Type d1 L1 L2 13 L4 T Material
$6.5 HOLES #d1
KD-4 14 30 8.5 95 | 235 M8x1.0p ZnDC
-
<
4 KD-6 14 30 85 95 | 235 M10x1.0p ZnDC

A-RYUNG MACHINERY IND, CO, LTD 2]



Connector

Type Pipe dia Material
HC-6-1/8K1 06 520C
HEX 14 = PT 1/8"
Union Type Pipe dia Material
HU-6 06 520C
HEX 14 42
( l
Elbow Type Pipe dia Material
HEX 14 30.5 HE-6 06 S20C
P
- 0
) [.E]j y
\PT 1/8”
Elbow union Type Pipe dia Material
— - HEU-6 06 $20C
—
— (] N
=hd .
Tee Type Pipe dia Material
HEX 14
’ J HT-6 06 520C
< jEL: 8
|| L
53

22 A-RYUNG MACHINERY IND, CO,, LTD

Accessories



WWW.aryUng.co.kr

145

45.5
0

i ﬂ Bracket — 2 (Brush)
] : Nl ,. % :
40.5 ?t &

Grease Cartridge

8.5

‘5 (=285,

NLGI No. Standard Mega Giga AGP

#000~#2 120cc 240cc 480cc 700cc

X UEIMOR | jthium AZQ BF J2|ATL B2 H0] Qo B AjdS] J2|AS FXI 6f
AL E = LA 29 SHIAIL.

% This cartridge is generally filled with standard Lithium grease.
If you need to fill other grease, you should ask the possibility to the seller of grease.

Socket

Ref. No. L1 L2 L3 L4 m T2 2D1

SO-1/4K 8 8 10 22 M12x1.0p PF1/4" 4.5

T T Adaptor
; Ref. No. L1 2 | L3 | L4 T1 T2 Hex | Material
L J_HL;H RD-1/4K | 95 | 7.5 165 32 | M14x20p | PT1/4' | 21 | BsBD3
L4

A-RYUNG MACHINERY IND, CO,, LTD 23



rease pumps

Changing the cartridge

The flushing and operation Hij2t A& L A|2H

 RIZEIR HI HBO) s 2214 5
Pump) Ei= J2IA 48 NS0 Air
QU BN T2AAS B Y

[}

L 2
Raiuiz]
< IH

g

HI

=

H T

1o

CC

e

nx

Rall

d

© g
-Ei
i s
4o|£
10 =
o =
=

= N

2 FO gy

= [r A2

tOf B 2HAI A 2 BN ZHHE B2 ATOIM HZE ZHYE 2
elAZl = dejA OIS SHAA BN J2AS &
HHEAI7 BHELHEE THRO| M3 = CRA| S0 A ZSITE
XS HX| = Flushing= SHA| 24| = B2 0= Eof
HEAOH X B QI 10| LY E &+ USLICH)

X[2)el ZLE 5270l B2 AZSHA| Y1 b2 BHTHA|
oA SEO|HE AT 2 SRTY AEdH FHAIR.

L 4

AL AT A
ol o

5

—
T
=

1o

ol

=
AT 1o

4
oy

o
o

—

=0 A A
¢ A ZMR R
¢ #3739 S AHE B J2A 5 o4 A

£ Q11 O A @A M J2|AN 7|2t EREN EEEFHY

ol0] guch,

& 7tE2|X|(Cartridge Type)EtQ TI2|A HI= TJ2|ATF EXIEH FIE

XIS Wet FRGHIAIL,

>
e}

o

—~
i
o
2

¢ 30 22AS STt E M= ST HIE AIEot0] Hol 2
A A 3 =4
o

Changing the cartridge 7tE2| X| w2t it

@ After installing the pump, the grease should be filled until
upper limit line by AFP-H filling pump or grease gun at
filling port in front of pump.

@ The method of flushing of main pipe follows, firstly separate
the connector part in front of distributor from pump and
clean the inner pipe by grease put out,and reassembling.
(If it doesn't clean the pipe occasionally, it makes critically
trouble)

@ In case of connecting lubricating pipe,it should avoid to
connect directly. It is proper to assemble after filling the
grease at the end of pipe.

@ When you fill the grease in reservoir, the filling port in left
side of pump should be used by filling pump.

¥ The grease have to be filled until upper limit line.

@ Don't fill the grease by tank cap.If it does, the grease can
contain the air and causes flowing problem.

@ The cartridge type should exchange with the grease
contained.

¢ 912 2312 1 FHERIX| HES MR 53 2 BEK 124}
Q=S it

¢ FIERIR] FZS A
of 2L,

FEHM At 2UEA| EES HI QY7

@ Release the cartridge cap and push slightly the cartridge
bottom until grease comes up the cap entrance.

© Combine cartridge with pump body not containing air along
with pushing the cartridge bottom.

The superiority of cartridge type 7IEZ2|X|Q] &H

# J2A TSN 2 XINRED Bri20] 100, TSR T
2 W2 2P T 4 01, ZHHOLT RS BHS SA 4 2
,

& ZHSIIZA 719 T40] Y01 PRSI 9T QU Hli7|2 =
2|5 X LoTZ K7|7H AFRSH 4 9

M.

24 A-RYUNG MACHINERY IND, CO., LTD

@ It can avoid dirty and complicated working by refilling the
grease. Also it is so easy exchange of cartridge that can
economical and clean environment.

@ It keeps good quality of original grease without exposing
the air and uses long time because it doesn't separate with
soap.



WWW.aryUng.co.kr

Changing the cartridge

HPS Change the cartridge 7IE2|X| w8t HItH

How to change the cartridge (HPS Ats 12|A

= 0f2f 9 DI 22 M2 FLECIRIE WERIT

@ QAT 0= W S=0{ Bih|2| S
AOIBITE (+,- Y50 2%9))

@ Set the battery into the battery pack
according to the direction mark
printed correctly (+,- marks)

@ Transparent 5t2d HE XA FE211
Lock rings AlA HiiC= Z2|H
Cartridge”t 22| €L,

@ Push the housing and turn the
lock ring to the counter clockwise
direction to remove the cartridge.

@ Pump 2Tl Grease gung 0|&3tH

GreaseE IS},

@ Fill the grease through the pump inlet

by the grease gun.

@ 2o F2|A FHELX| HetURE 7|5 6 Yz SIE 0 FtELX| HES A%
StCY. 2 5 22| J2|A7 IQEE it

® Release the cartridge cap and push
slightly the cartridge bottom until
grease comes up the cap entrance.

@ Record the change date of cartridge
on the label.

© 7IE2IX| FZS A% F2HM At 2Y

EIX| EE I QI ZEBITt

©® Combine cartridge with pump body

not containing air along with pushing
the cartridge bottom.

® Transparent housing $12 XAl &
E11 Lock ringg AIA g&Cz S2|H
CartridgeZt Z& &L,

Push the housing and turn the lock
ring to the clockwise direction to fix
the cartridge.

@ Transparent housingl AZ2S X Z
St Pump®t Zgfetrt,

@ Assemble the housing with pump
after setting the spring.

© Pump OfHZ2| 3749 AYX| 5 1712
52 PumpZt SHE=XIE E0I5t 5 £
B = BiEa 12 Bic

[

O

© Push one of the bottom switches and
check the pump operation and then
connect distributor or pipe.

A-RYUNG MACHINERY IND. CO, LTD 2§



T

;i"?f;

Gre m

sepumps.

Changing the cartridge
ARG-000, 1 Change the cartridge 7tE2|X| W2t HiH
How to change the cartridge (AGP-DG10, MG10 At= 12|A PUMP & Ot2f9 &1t 22 M2 7IEZ|X|E W8

it

@ HOUSINGS BIA[A S

45fo = Z2|H HOUSINGO| 22/ L.
@ Remove the housing by turning the housing counter-
clockwise.

@t CARTRIDGES HtAAY=tC 2 Z2|H gl CARTRIDGEZ}
TalE.

@ Take the empty cartridge off by turning the cartridge
Cccw.

@ M CARTRIDGEY] FHZS M =
£ Hoolgpet 2

= FE2HM ARt 2YHA 2
Jh ZgEuc

@ HOUSINGS AlAgete 2 S2|3 HOUSINGO|
2ot AALECR S2|H CARTRIDGE

ZgEU.
@ Put the housing back on turning it clockwise.
@ Install a new cartridge fitting with the inlet by turning

it clockwise with pushing the bottom of the cartridge
softly not to allow any air in it.

26 A-RYUNG MACHINERY IND, CO,, LTD



1976. 5
1980. 4
1982. 2

1982.
1987.

o o

1992. 12
1993. 5

199. 11
1999. 6

1999. 11
2000. 10

2000. 11

2003. 11

2003. 12
2004. 11
2005. 12
2006. 12
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2009. 2
2009. 3
2010. 11

2012. 2
2014. 2
2014.10
2015. 3
2015. 12

CHet?l= CHE Haicl)

SA71A o= = obsol AU

A-RYUNG The leading (pump) manufacturer in Korea.
A-RYUNG joins the development of Korean machine tools.

o157 |3@ &8

HEEXIE Oil pump ME3H Hx| XIH(No.79-118)
ohat AFEAE SQIHMXIY

(BA7IPTIEZH No.81-208)

LAY HEHES
AT AN 24AHMY
(No.87-1043)

ey 320 4 (ZME)
SHRINE 5 AN 4
(CHSIRHZIZZAD
‘CE" QoA 215 ( TUV Rheinland)
M 7|AR, BEEAX R4EATH 05
(et=27|2EZ No.1999-0393)

ISO 9001 EXAFAIAH 2IZ (KSA)
‘CSA-c-us” O|= & FHLICH QP2 QIS
(CSA INTERNATIONAL)

SEZE NIRRT B

(No.47955)

DHRIS AMLUN 22 MAERER BE A
(No.54163).

+EZE TRtHEXA 3 (No.1421
SR Bl M OB IS(CHA)RSBAY
‘BRI ALH B2 2LE2N HE (N0.1337403)
FHo| o 7|F 1002t EE A

7oA AR

‘MAIN-BIZ'(ZGSAS ZA7|2)015

AIZPPM QIB3S

INNO-BIZ' (7I&81A1E SA7I)RIE "AASE’

SEMIEY +E(ETH

‘NRTL" 20 oHY 0I5 25

THIEEEH(M47687=)

ZMzE=x ZE 215

(0.75kW O] 4})

g E+ES4(HB9%)

Z2|0/Y S871F(E3) ¢!

HERLT|HY 4

SN 252
(o]

9| & 71 3002t +EE 4

0l

0l

o
74
(=]

=
n

1976. 5
1980. 4
1982. 2

1982. 5
1987. 9

1992. 12
1993. 5

1996. 11
1999. 6

1999. 11
2000. 10

2000. 11

2003. 11

2003. 12
2004. 11
2005. 12
2006. 12
2007. 4
2007. 9
2007. 10
2007. 10
2008. 5
2009. 2
2009. 3
2010. 11

2012. 2
2014. 2
2014.10
2015. 3
2015. 12

A Coolant pump Z& Line AT-rolor pump Z& Line

Established as A-RYUNG Machinery Industry Co. Ltd.
Designated technical manufacturer of oil pump by the Ministry of Trade and Industry.

Designated as an Approved Company of Systematization of Small & Medium
Industry by the Ministry of Trade and Industry.

Awarded the Korea Presidential Citation for an Excellent Small & Medium Enterprise.

Awarded Excellent company for domestic machine development
by the Deputy Prime Minister.

Awarded Self-Control company for National Tax by National Tax Office.

Awarded an Export Industry Prize for Overseas Market
by the Korea Trade Center. (KOTRA)

Authorized Conformity EC declaration by TUV Rheinland.

Obtaining Certification for EM Machinery, Spare parts by Korea Technique
Standard Association.

Obtaining the ISO 9001 Certification by the KSA-QA supported by IQ-NET.

Obtained the CSA-c-us mark, American-Canadian Safety Standard by CSA
INTERNATIONAL.

Awarded The prize of Export-developing Company by Ministry of Trade and
Industry.

Awarded Prize of Trade Promotion and Industrial Development from Ministry
of Trade and Industry

Awarded Prize of excellent Exporter by Jeonnam Province.
Opened China office in Dalian named A-Ryung Dalian Co. Ltd.
Awarded Honor of machine development by The Prime Minister.
Prized 1 Million Tower of Export celebrating National Trade Day
Established Research & Development Center

Obtained Main-Biz (management innovation in small & midium Co.)
Obtained Certificate of Single PPM

Obtained Inno-biz ( management innivation in small & midium Co.)
awarded bronze tower of industry from ministry of public administration and security
Obtained NRTL Certificate.

A citation from Director of the National Tax Service

Motor(more than 0.75kw) based on minum energy efficiency
Korean policy will be released in 2011.

Export Award of Jeonnam

IE3, Premium Efficiency, certified

Noble Entrepreneur Award

Good Taxpayer Award from the vice prime minister
Exporting three million dollars award



A-RYUNG MACHINERY IND. CO., LTD.

i

oEIZE T

® Head quarters, KOREA
#48, Damsun-ro, Keumseong-myun,
Damyang-gun, Jeonnam, Korea
e HYE S4H s 48 =2 681-1)
TEL : ++82-61-380-2200 FAX:++82-61-382-3094
URL : http://ww.aryung.co.kr Email : aryung@aryung.co.kr

@ Branch office & Factory, CHINA

#9 Tieshan East 3road Central Industrial District

Economic Development Zone Dalian City China

TEL : ++86-411-8734-6601~4 FAX: ++86-411-8734-6605
URL : http:/Aww.aryung.co.kr Email : a-ryung(@163.com

e Branch office, JANPAN
44 Shinmachi Ueda-shi Nagano-ken 386 -1434 Japan <.Q o )
TEL : +81-268-71-5220, +81-268-38-4119 FAX: +81-268-38-4165 \}\3 ; \)b%‘n
URL : http:/Aww.aryung,jp E-mail : k-nakazawal(@aryung.jp \&Q 4

y >
act our technical team.






